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522) (-5, 4) 523) (7, 5) 524) (0, 4) 525) (-4, 7)
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534) (-2, -4) 535) (-6, 7) 536) (0,-2) 537) (3,-6)
538) (-2, 1) 539) (=2, 0) 540) (-3, 0) 541) (5,-3)
542) (2,0) 543) (2,-3) 544) (-8, 6) 545) (4, 4)
546) (-4, 4) 547) (3,-1) 548) (0,2) 549) (-2,-1)
550) (1, 0) 551) (-6, 5) 552) (2,-1) 553) (0, 1)
554) (-3, -5) 555) (-1, 0) 556) (2,0) 557) (-4, -38)
558) (-2, -1) 559) (-1, 1) 560) (-2, 0) 561) (4,2)
562) (8, 6) 563) (2,-1) 564) (-3,-1) 565) (-5, -5)
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580) (1, 1) 581) (7, 5) 582) Infinite number of solutions
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For the given line, draw a Perpendicular Line through point A, and a Parallel line though point

B.
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